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IRILF—DEL

145 3 BAIE1 VTILEIN
gﬁfgﬁg’ff - F-BFDIHRILF—
= Nk MeV = 106 eV
v
RAIRILF—
2.3 MeV™

ME FILE=H L

N—RBIYMBETUEFHO>TLEIMN ? BYIRITHMN?
MBORNETEDESLERIEIFISHM?
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2.3 MeV RX—A%#2 SAl 1cm

« 50RAS>FEEET
o 3R Gt
« XIRSAFLE(ER)

10cm | ‘




2.3 MeV N—’S’ﬁ—;@l 0.25cm
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PCETOFIE

ucshield.* &shield.dat Zisord5.tar.gzh b ERY H

v RTOVIREERHANTA AL, egsbExELED
— C:¥gr7T7¥gr7T7setup
— cd egsd/userdir

— egsorun ucshield

BIZ&EZ 5

— Key in Material number: 1

— Do you want to produce... : O

— Key in particle type: -1

— Key in particle kinetic energy in MeV : 2.3
— Key in slab thickness incm : 1.0
Coviewz iZ B LB B & = 7

— File -> Read geometry -> (Move to working folder) ->
Select egsb5job.pic

} BEHWN&, —ELTRE




B2 AURREMEITHTHERAL

IS

s AUREBIIYMETLETF->TLEIN? BYIRITAMN?
- YMBEORNETEDISIGERIGHFRIADM?



IS
THITRILF—
1.25 MeV*

o AURRIEIMETLEF->TLEIN 2 BYIRITEM?
MEDRAEBTE DXIGERISHELH ?




1.25 MeV H 2 <#E—Al 5cm
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1.25 MeV A< #E—Al 10cm
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1.25 MeV 1< #—Al 20cm
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PCETOFIE

ucshield.* &shield.datZisord5.tar.gzm o ERY

AT UREZFHAWLTA AL, egsbrELE S
— C:¥g77¥g77setup
— cd egsb/userdir

— egsarun ucshield

FIZEZS

— Key in Material number: 1

— Do you want to produce... : O

— Key in particle type: 0

— Key in particle kinetic energy in MeV : 1.0
— Key in slab thickness incm : 1.0

Cgviewz it EIL . BlEiZzRTI Do

} BEHWN &, —ELTRE

|

— File -> Read geometry -> (Move to working folder) ->

Select egsbjob.pic



{5 RE3 ucbend.f
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PCTOFIE
» isord5.tar.gz Mbucbend *FEY H
« OAYUFEZEHIVTANL egsb ZELED
— C:¥g77¥qg77setup
— cd egsd/userdir
— egsorun ucbend

« Cgview ZxELHE D

— File -> Read geometry -> (Move to working
folder) -> Select egs5job.pic

} BEHWN®&, —ELTRE




{5 %E4 tutor1 code

e tutor1 codeZxELtE 5
e HOETZ-aTILELLET B

—HAED—FDREERHF EDRT IS E ?
o IRIBRIFDIEEREZRANRD

$Rist 1
20 MeVE

?

(L]l

23 )LER

(BEE1 mm)

A2

PR3

"I MAHEH TS ?



tutor 1D ¥RIRIETE

igin=-1 | &F
ein=20. OdO + RM 1381 T~)LF— 20 MeV

xin=0.0

yin=0.0 }!Rm A5
zin=0.0 |

uin=0.0 )

vin=0.0 }!ZARIZED
win=1.0 |

irin=2 | ¥ HA PR IE =2

wtin=1.0 ! E#H=1

call shower(igin,ein,xin,yin,zin,uin,vin,win,irin,wtin)




tutor1 D& H 38 )L—F > (ausgab)

if (ilarg.eq.3.and.ir(np).eq.3) then 154
! ZEHIZxI 9 HAE (degrees)
angle=acos( w(np) ) * 180.0 / 3.14159
| BB IRILX—DFE
if (ig(np).eq.0) then ! FF
ekine=e(np)
else
ekine=e(np)-RM ! &
end if
write(6,100) ekine, iq(np), angle ! #EER D H 1
100 format(T21,F10.3,T33,110,T49,F10.1)

%

(i

7157

(i

end if
iarg: ausgab® 5%k ir(np): RIFHIRERET SHEFDES
iarg.eq.3: 1—H—DEK np: REESNTVWDRFDES
[CEYRIFOEHERT #B.11 common/STACK D HI FIEHRD— &
& B.18, B.19:iargh—&




tutor1 M#ER (tutor1.out)

EEFIRILF— B ZEMoDAE

(MeV) (deg)
Start history 1

1.867 0 2.3

0.680 0 10.8

15.455 -1 27.0
Start history 2

0.400 0 28.4

1.451 0 28.2

16.141 -1 21.6
Start history 3

0.301 0 12.4

1.402 0 33.3

16.128 -1 73.4
(L. AHg)




PCT®OFIE

egsSTAIL I MLEETAILA [Ctutor#zaE—9 5,
- #=1,2,3,5,6,7

AR TRV TREZERK
RDEOIZANLegssrELE D

— C:¥gr77¥gr77setup
— cd egsd/userdir

— egssrun tutor1

H 1% tutor#t.out LLEERT B,
tutor#t.f DHEARS
— BN FZIETET A=HDITIEEC M ?
— NFDRHREH N T H=-HDITIIECH?

} BERAWNR, —ELTRE




{5 RE5 tutor2 code

TR

20 MeV %
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{5 RE5 tutor2 code

RN TRILF—I[F?

4B 152
4B 1
20 MeV &BF
RETTRILEF—IL?
23 ILIR(ESE1 mm)

subroutine ausgab® =

if (iarg.le.4) then ! &4
irl=ir(np)

escore(irl) = escore(irl) + edep !
end if

= 210

218

BTIRILF—IE?

A3

iarg.le.4: FiF & E D#E
FlIEEERT

% B.18, B.19:iargh—& =X

edep : RINTRI)LF—
I FIHEHRD—D, KB.6SHE




{5 RE5 tutor2 code

IRUIRT R IJLF—: 12.96%

SFf52
SE1sh 1 SEfE3
20 MeV &F
RETTARILF—:0.66% BEiBEIARILF—:86.39%
23 ILIR(ESE1 mm)

subroutine ausgab® =

— T 3
240 iarg.le.4: FIF D& & DX
if (iarg.le.4) then ! & FI=[THEH T
ir(l=air£(3n§) ) the *t & B.18, B.19:iargh—& =X
escore(irl) = escore(irl) + edep ! FT#ER
end if

edep : RINTRJLF—
I FIEHRD—D, KB.6SHE




{51 R85 tutor3 code
BB CIRINIRILE—72T) (X2

PRI 2
PEIZ 1 4
idisc=1
5 MeV FF
——————— >
Nalik

subroutine ausgab® F E &R

if (iarg.le.2 .or. iarg.eq.4) then | &4
ehist = ehist + edep ! 515 ER

end if

FRE3

idisc=1

iarg.eq.3 : 1—H—EKI(C
KHPFHEIEDIRT
(idisc=1[Z Xt i)

edep : WINTR)LF—
P FIERD—D, KB.6S MR




Energy counts/incident photon

0.20
0.40
0.60
0.80
1.00
1.20
1.40
1.60
1.80
2.00
2.20
2.40
2.60
2.80
3.00
3.20
3.40
3.60
3.80
4.00
4.20
4.40
4.60
4.80
5.00

0.0060
0.0058
0.0054
0.0050
0.0058
0.0065
0.0047
0.0043
0.0060
0.0047
0.0061
0.0053
0.0059
0.0059
0.0061
0.0053
0.0069
0.0079
0.0103
0.0273
0.0226
0.0155
0.0352
0.0209
0.0371

*

*

—
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{5 RE6 tutor5 code

358 - BT FDERELEREIL 2

y 4

50 keV FF

TK DR
(JFE=0.5¢cm)

if (ilarg.eq.17) then
I A Compton scatter is about to occur
latch(np)=Ilatch(np)+1
else if (iarg.eq.23) then
I A Rayleigh scatter is about to occur
latch(np)=latch(np)+1000

MainT

COMMON/EPCONT
IAUSFL(18)=1! Turn on Compton
IAUSFL(24)=1 ! Turn on Rayleigh

ausgab TMlatchZ 1
(FIFDEMBE) DIRE

iarg.eq.17 : §hoaAVTRUBRELZESTE
iarg.eq.23 : §hoL A —BELEETE
(FT&B.195HR)




{5 RE6 tutor5 code

358 - BT FDERELEREIL 2

y 4

50 keV Y£F

TK DR
(BEX0.5cm)

HBLI-ASHENEE =88.89% (0.050 MeV)
L) —&RELDEIE =0.95% (0.049 MeV)
AT UEELD A DEIE =8.60% (0.046 MeV)
ORIFEHIRILTF—




R 3
RE T DT ILF— 100 keV &+
ARTRILIE?
£a Ak
ausgab® £ E &R (ES1cm)
irl=ir(np)

if(irl.eq.1.and.iq(np).eq.0) then | EHLF : 41
| FIRILF—ICRIELIZEVESZEERTE | FH2
iIbin=minO0 (int( e(np) / bwidth + 0.999 ), 50)
if (ibin.ne.0) then
ebin(ibin)=ebin(ibin)+1 | E[EDET#L
end if
end if




Energy counts/incident photon

(MeV)

(log)

0.0000*
0.0000*
0.0000*
0.0000*
0.0000*
0.0024

0.0032

0.0001*

0.0000*

-

0.0100

0.0000*
0.0000*
0.0000*
0.0000*
0.0000*
0.0006



Fin
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